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QUESTION 1

Only one of many servers is suffering poor performance with a nearline (Tier 2) storage system. The server
administrator has not discovered any obvious root cause. The server has multiple paths to the storage system but only
one path is active. Routine monitoring by the storage administrator has determined that a single storage port has
received a high number of bad frames. 

What should the SAN administrator do? 

A. Determine the source of duplicate frames. 

B. Verify that the host ports are correctly zoned. 

C. Find the source of frames with CRC errors. 

D. Collect new performance data and compare to the baseline. 

Correct Answer: C 

 

QUESTION 2

A security audit reveals deficiencies in your company\\'s FC zoning practices. Your manager asks you to make a
recommendation to implement the most secure FC zoning possible. Your company is using switches from a single
vendor. 

What do you recommend? 

A. All zones should use frame-based hardware enforcement using pWWN identification exclusively for all
configurations. 

B. All zones should use software-based enforcement using pWWN identification exclusively for all configurations. 

C. All zones should use frame-based hardware enforcement using destination port identification exclusively for all
configurations. 

D. All zones should use software-based enforcement using destination port identification exclusively for all
configurations. 

Correct Answer: A 

 

QUESTION 3

Your company does a full backup on Sunday night and incremental backups from Monday through Saturday at
midnight. The full backup requires two tapes and each incremental backup requires one tape. There is a system failure
Wednesday morning. 

How many tapes will be used to restore to the most current backup? 

A. 1 

B. 3 
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C. 4 

D. 8 

Correct Answer: C 

 

QUESTION 4

You have a server which is booting from a SAN. After adding new SAN storage to a host, the host will not boot from the
SAN. 

What will resolve this problem? 

A. LUN masking 

B. Persistent binding 

C. Trunking 

D. Multiplex binding 

Correct Answer: B 

 

QUESTION 5

A company needs to replicate a database from its main office to a disaster recovery site 3,000 km away with a five
minute recovery point objective. 

Which type of replication should the company use to replicate the data? 

A. Synchronous 

B. Asynchronous 

C. Multi-synchronous 

D. Local replication 

Correct Answer: B 
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